@ Der Zigeunerbaron

4 > > B = M

Fliigelhom in B 1 Der Zigeunerbaron

Johann Strauss f
S

Allegro Moderato J=1n2

g ¥ | T e g g g
(Y ¢ @ [ & @ [ #g "/ F T *
=

213 2 TN 2 poco meno a tempo

—

#q:}:gjl T o I —— —
C] j— — ¥ I I I R — v —

| & < WP N 71T 7171 | I 1 | P N 1T Y 11 T I 1 & /& |

ANV T | AN 1 4 T T T T | A L4 T T T T 717

oJ £ 1

223

H A | [ | |
1 ) — T T 1% 171 T T N 1 —]
¥ o o  Ne T

1 . 1 .
=" 1T 1T
o T y— 1 — —




Der Zigeunerbaron 3

I
(7]
7

277 Tempo di Valse 0Co rit.matem 0
— 2 —~ 2 P P!
T T o
i T — 2 2 —— ——
ey 41— — ¢ . S— 7/ A S -3 i
:)v i S A—— I I Y1 f




